Rearranging equations examples

(1) Make v the subject of the formula m = Y
u

Equation Action

m=— Multiply both sides by u

v
u
mu = —v | Multiply both sides by —1

—mu="v

P
(2) Solve for d in the equation i f

Equation Action

= Multiply both sides by d

= fd | Divide both sides by f

I
(3) Make I the subject of the formula hp = hg + —2

Ahg
Equation Action
1
hp = hg + < Subtract hg from both sides
Ahg
I
hp — hg = —2 Multiply both sides by Ahg
Ahg
Ahg(hp — he) = Ig




(4) Make p,, the subject of the formula p; =

Gspw

1+e
Equation Action
Gspu : :
Pd = Multiply both sides by 1 + e
1+e
pa(l+e) = Gsp,, | Divide both sides by G
_palte)
p’w - Gs
Vo6V
(5) Solve for V in the equation g4 = 3 + B—;.
Equation Action
V. 6Ve

Gmaz = E + ?
GmazB? = BV +6Ve

GmaeB? = V(B + 6¢)

Gmax -82

V=
B + 6e

(6) Make E the subject of the formula w =

Multiply both sides by B?
Factor V on the right hand side

Divide both sides by B + 6e

3ET
ML3

Action

Equation
~ [3EI
YN e
2 _ BEI
- MIL3
WAMIL? =3FE1
I w2ML3
3F

Square both sides

Multiply both sides by M L3

Divide both sides by 3FE



1 1
(7) Transpose the formula — + —

1
— to make u the subject.

u v
Equation Action
1 1 1 . .
—+—-== Multiply both sides by uv f
u v f
vf +uf =wv | Subtract uf from both sides
vf =wuv —uf | Factor u on the right hand side
vf =wu(v— f) | Divide both sides by v — f
vf
=u
v—f

Equation

(8) Solve for ¢ in the equation wy = wy/1 — (2.

Action

wWg = wy/1—(?

2
“Yd _ :—CQ
w2
()¢
w2
wi
w

Divide both sides by w
Square both sides
Subtract 1 from both sides
Multiply both sides by —1

Take the square root of both sides



(9) Solve for ¢ in the formula F' = Pe™.

Equation Action
F = Pet Divide both sides by P
F .
5= et Take In of both sides

In (%) =rt | Divide both sides by r

(10) Make R the subject of the formula V = V(1 — e~/RC).

Equation Action
V = V,(1 — e ¥/7) | Divide both sides by V
; =1— e W/RC Subtract 1 from both sides
; — 1= —e /B¢ | Multiply both sides by —1
—; +1=e¥EC | Take In of both sides

—t
In(1 — %) =70 Multiply both sides by R
—t
RlIn(1 — %) = Divide both sides by In(1 — VK)
__—t/C
In(1 — %)



